Visit COLES Variety Stores

Shaw, J. C., and A. J. Rutherford, R.M.B. 240, Yerong Creek, N.S.W., 156, 167, 181.

Small, R., Kolodong P.O., Taree, N.S.W., 267.

Smart, L., Cawdor, Camden, N.S.W., 185, 188, 194, 201, 207A, 214, 217, 218, 245, 249, 256, 268, 306, 309, 356, 362, 360, 370, 373, 375, 377.

Smart, L. C. W., Silverwood. Werombi-rd., Camden, N.S.W., 399, 400, 405, 406, 413, 428, 442, 464, 489.

Smart, R., Cawdor, Camden, N.S.W., 366.

Southern N.S.W. District Exhibit, c/o. S. Duffy, 212 Cowper-st., Goulburn, N.S.W., 4.

Stacey, H. T., R.M.B. 585, Honeydale, Young-rd., Temora, N.S.W., 116, 133, 148.

Stitt, J. C., River View, Purfleet, Taree, N.S.W., 224, 241, 246, 303.

Streckfuss, H. O., Walliston, Mathoura, N.S.W., 167A. Swanson and Van Der Maal, P.O. Pox 12, Tullamore, N.S.W., 168, 182.

Swanson, G., Strathwick Apiaries, Maitland, Gore, N.Z., 414, 415.

TAYLOR, R. H., 5 Denison-st., Mudgee, N.S.W., 443, 444, 452, 465, 478, 490, 491, 496.

Tout, F. H., and Co., H. W. and E. M. Kupkee, Uah, Forbes, N.S.W., 44, 45, 57, 89, 92, 157.

Tyrrell, J., and Sons, Parkinore, Redlands, Corowa, N.S.W., 134, 149, 168A, 182A.

WALL, J., Stoney Creek, Narrabri, N.S.W., 11, 23, 46, 47, 58, 68, 135.

Wallwork, J., 83 Brunker-st., Kurri Kurri, N.S.W., 416, 417.

Watt, N., Strathisla, Trundle, N.S.W., 195, 202, 215, 216

Weaver, H. O., Blackville, Quirindi, N.S.W., 24, 48,

Western N.S.W. District Exhibit, c/o. K. P. Trevitt, Bathurst, N.S.W., 5.

White, J., P.O. Wyoming, Gosford, N.S.W., 463, 454, 466, 492, 493,

Whitechurch, C. P., Wendource, Bimbi-rd., Grenfell, N.S.W., 169.

Whiteman, T. V., 120 Barwan-st., Narrabri, N.S.W., 12, 25, 28, 35, 49, 60, 150.

Wilson, E. McG., Aberemah, Trundle, N.S.W., 170,

YOUNG, S. J., 29 Hill-st., Gosford, N.S.W., 401, 407, 423, 445, 455, 467, 471, 479, 494, 502, 508, 510,



Section II—DAIRY PRODUCE

BUTTER, CHEESE, HAMS, BACON, AND LARD.

The Hon E. J. Eggins, M.H.R. (Chairman) P. Charley A. F. Dowie

Committee : E. H. K. Downes Col. T. E. Irwin R. S. Maynard

V. J. G. See E. A. Southee A. J. Tanner

Stewards:

J. D. L. McGibbon

C. R. Buttaworth

D. I. Gillies

J. McGahey

R. A. Webber

Steward-in-Chief: The Hon. E. J. Eggins, M.H.R.

BUTTER.

Judges:

(Local Consumption):

J. T. Dickson, Department of Agriculture, N.S.W., Sydney.

(Export):

O. K. Belford.

Department of Commerce and Agriculture, Margaret-st., Sydney.

Department of Commerce and Agriculture, Margaret-st., Sydney.

(Royal Special Export):

A. D. Allanson,

Officer-in-Charge, Department of Commerce and Agriculture, London.

Butter in all clauses to be made from pasteurised cream and no preservative other than sait to be added. All butter exhibited may be subject to analysis.

All butter, specially manufactured and prepared for exhibition purposes, must be packed in PLAIN STANDARD LOCAL BOXES (BRANDED BOXES NOT PERMITTED).

All exhibits for Classes 3 to 9 to be addressed to the Secretary, Royal Agricultural Society of M.S.W., c/o. Waterside Cold Stores Pty., Ltd., 10 Point-st., Pyrmont, Sydney, and must be in cold store as stated in each Class.

Exhibitors falling to observe this Regulation are liable to disqualification.

For purposes of identification a liable, bearing the full name of the exhibitor (Factory) together with full particulars of the class for which the exhibit is intended, must be securely affixed to the lid of each box before it is wrapped in its protecting cover.

The surface of the butter must be impressed with the Australian Roller brand.

An exhibitor who may desire to go through the exhibits with the judge, after judging day, shall make an appointment through the Steward-in-Chief or the Secretary.

Arrival and Departure of Exhibits.

Arrival and Departure of Exhibits.

Butter for classes as hereunder mentioned must be midressed to the Secretary, Royal Agricultural Society of N.S.W., Waterside Cold Stores Pty. Ltd., 10 Point-st., Pyrmont, Sydney, and be delivered not later than the dates shown, viz.:—

Class 7—During March.

Class 8—Friday, 24th February.

Class 6—Wednesday, 25th January.

Class 8—Friday, 22th Hebruary.

Class 8—Friday, 24th February.

Class 8—Friday, 24th February.

Class 8—Wednesday 22nd March.

For Class 10, butter to be addressed to the Secretary, Royal Agricultural Society of N.S.W., Showground, Moore Park, Sydney, and must be delivered at Showground not later than 5 p.m. on Thursday, 30th March.

All butter may be removed on Thursday afternoon 13th April. Each factory must supply agent with delivery order to obtain butter.

Storage of Export Butter.

All exhibits for storage will be placed in cool chamber and kept at a temperature not exceeding 20 degrees. The exhibits will be removed from cold store to Showground in readiness for judging.

Unclaimed Exhibits.

All exhibits unclaimed on Thursday, 13th April, will be sent to an agent and sold; the proceeds, less expenses, will be forwarded to exhibitor. SCALE OF POINTS FOR JUDGING.

FLAVOUR AND AROMA Should be clean and mild TEXTURE: Includes body, grain and moisture incorporation ... CONDITION: Includes salting, colour, packing, and finish TOTAL ... 100

BLACKSMITHS' TOOLS, Anvils and Forges - Now on display at McPHERSON'S PAVILION — 102 Suttor Ave.

Class 1 - Continuous Grading Class for Butter (Local Consumption).

| COMPTUNO | | MARCH | | | APRIL | | | MAY | | | JUNE | | | JULY | | | AUCUST | |
|---|--------------|-------------------|-------|--------------|----------------|-------|------------|---------------|-------|-------|----------------|---------|--------|------------------------|---------------|--------------|----------------|-------|
| COMPETITORS. | Boxes | Grading Points | | Boxes | Grading Points | | Вожов | Foints | _ | Boxos | Grading Points | Avorago | Boxos | Grading &1 Points | Marage | Boxes | Grading Points | |
| Boga Co-op. Society, Ltd. Bellinger River Co-op. Butter | 3211 | 298623 | 93 | 31 28 | 290904 | 93 | 2024 | 188232 | 93 | 797 | 74121 | 93 | 1401 | 1302 93 | 93 | 1002 | 93184 | 92,99 |
| and Bacon Society, Ltd. | 1210 | 111108 | 91,82 | 1311 | 121923 | 93 | 720 | 66960 | 93 | 1022 | 95046 | 93 | - | - | | 623 | 57934 | 92,99 |
| Bowraville Co-op. Society, Ltd. | 1489 | | 92.77 | | | | 485 | 45058 | 92.9 | 226 | 21018 | 93 | 213 | | 93 | | | |
| Casino Co-op. Dairy Society, Ltd. Claronco River Pioneer Co-op. | 10477 | | 92.9 | 7456 | 695908 | 93.34 | 4804 | 446772 | 93 | 1680 | 156240 | 93 | 2160 | | 93 | 2899 | 269607 | 133 |
| Dairying Co., Ltd. Cobargo District Co-op. Creamery | 21.58 | 200477 | 92.9 | 3214 | 298902 | 93 | 1554 | 143985 | 92.65 | 1007 | 93651 | 93 | 898 | 83304 | 92,77 | 1059 | 98384 | 92.9 |
| and Butter Co., Ltd. | 1995 | | 93 | | 142564 | 92.99 | 815 | 757 95 | 93 | 305 | 28283 | 92.73 | 378 | | 93 | | - | |
| Comboyne Rural Co-op. Society, Ltd. | 1225 | 113925 | 93 | 923 | | 93 | 940 | | 93 | 273 | 25389 | 93 | 362 | | 93 | | | |
| Cow and Gate Pty., Ltd. (Coff's | 40.0 | DAA.TT | 00 | | | | | | | | | | | | | | 100 | |
| Harbour). | 400 | | 92.46 | 563 | | 93 | | | | | | | | - | | - | | |
| Cow and Gate Pty., Ltd. (Raleigh) | 850 3707 | | 92.71 | 935 | | 93 | 576 | | 93 | 266 | 24738 | 93 | 3.03.0 | 0.10 | 05 | 40.5 | 40000 | 02. |
| Dorrigo Co-op. Dairy Co., Ltd. Foloy Brothers Pty., Ltd. (Lismore) | 3707 8954 | | 93 | | | 93 | 1913 | | 93.13 | 783 | 72819 | 93 | 1018 | | 93 | 492 | 46756 | |
| Foley Brothers Pty., Ltd. | 8954 | | 92,99 | | | 93 | 6176 | | 93 | 2579 | 239847 | 93 | 4132 | | 93 | 3494 | 324932 | 2000 |
| (Mullumbimby) Foloy Brothors Pty., Ltd. (South- | 4573 | | 92.98 | 3101 | 288393 | 93 | 2987 | 277791 | 93 | 1486 | 138198 | 93 | 2344 | 2179 92 | 93 | 1635 | 152055 | |
| gato). | 1191 | | 92.18 | | | 93 | 1233 | 114669 | 93 | 608 | 55574 | 91.4 | 313 | | 91.63 | 903 | 83700 | _ |
| Gloucester Dairy Co., Ltd. | 2025 | | 92:33 | 1996 | 184101 | 92.23 | 669 | 62217 | 93 | | - | | 288 | 26784 | 93 | 255 | 23715 | |
| Grafton Co-op. Dairy Co., Ltd. Macleay Rivor Co-op. Dairying Co., | 3793 | 350862 | 92.5 | 3145 | | 92.81 | 1348 | 125364 | 93 | 1059 | 98331 | 92.85 | 516 | 47786 | 92.61 | D100-0- | | |
| Ltd. Manning Rivor Co-op. Dairy Society, | 2973 | 276489 | 93 | 2757 | 256401 | 93 | 1281 | 119133 | 93 | 1195 | 111135 | 93 | 581 | 54 0 3 3 | 93 | 1115 | 103695 | 93 |
| Ltd. | 2738 | 254403 | 92.92 | 1049 | 97462 | 92.91 | | | | | | | | - | | | - | |
| Nambuooa Co-op. Society, Ltd. | 456 | | 92.58 | 513 | | 93 | 323 | | 93 | `228 | 21204 | 93 | 228 | 21204 | 93 | | | |
| Norco Co-op, Ltd. (Byron Bay) | 5693 | 529386 | 92.99 | | | 93 | 3667 | | 92.89 | 2295 | 213435 | 93 | 2642 | 245664 | 92.98 | 2593 | 241149 | |
| Norco Co-op. Ltd. (Kyogle) | 3552 | 329972 | 92,9 | 3377 | 313514 | 92.84 | 3130 | 291090 | | 1051 | 97743 | 93 | 2308 | 214644 | 93 | 185 8 | 172702 | 92.95 |
| Norco Co-op. Ltd. (Lismore) | | | | 14191 1 | | 92.93 | 9956 | 925908 | 93 | 4061 | 377673 | 93 | 6775 | 630075 | 93 | 5703 | 530299 | 92.99 |
| Norco Co-op. Ltd. (Murwillumbah) Pambula Co-op. Creamery and Dairy | 5604 | 521000 | 92.97 | | 227757 | _ | 1564 | | 93 | 739 | 68727 | 93 | 2469 | 829617 | 93 | 21.03 | 195579 | 93 |
| Co., Ltd. | 1031 | 95883 | | | | _ | 454 | | 92.64 | | | | - | | - | | | |
| Poters Creameries Pty., Ltd. (Tarce) Singleton Control Co-op. Dairy Co., | 3940 | 366420 | 93 | | | 92.96 | 2440 | 22699 | 93.03 | 952 | 88536 | 93 | 1002 | 93186 | 93 | 1187 | 110391 | 93 |
| Ltd. | | | | - | | | | | | | | | - | | - | - | | |
| South Wolumla Co-op. Creamory Co., | 930 | 86450 | 12.06 | 960 | 901.75 | 22.02 | 636 | 57000 | 92 90 | 300 | 3703.4 | 07 | 070 | 993.03 | 99 | 250 | 39616 | 98 66 |
| Tumut Co-op. Dairy Co., Ltd. | | 00400 | 92.96 | 960 | 89175 | 36.89 | 616 | 57222 | 92.89 | 398 | 37014 | 95 | 239 | 22191 | 92.85 | 352 1007 | 32616 93651 | _ |
| Upper Macloay Co-op, Dairy Co., Ltd. | 951 | 88311 | 92.86 | 470 | 43710 | 93 | 374 | 34782 | 93 | | - | | 1 | | 100 | 1007 | 3000T | |
| Wingham Rural Co-op. Society, Ltd. | 2668 | | | | | 93 | | | 93 | 242 | 22506 | 93 | 324 | 30132 | 93 | - | | |

| JUNE Grading Points | Avorago | Boxos | JULY Grading An Points | Mrago | Boxes | AUGUST Grading Points | | | SEPTEMEN Gradin Point | g Avorage | Вожов | OCTOBER NOVEMBER comps Grading Average Boxes Grading Average Boxes Points Points | | | | DECEMBER Boxos Grading Aver- Points age | | | | |
|---------------------------|----------|--------------|------------------------------|-------------|--------------|-----------------------------|-------|--------------|-----------------------------|-------------|--------------|--|---------------------------|----------------------|-----------------------------------|---|-------|------------------|----------|------|
| 74121 | 93 | 1401 | 1502 93 | 93 | 1002 | 93184 | 92,99 | 1422 | 132246 | 93 | 1900 | 176700 | 93 | 2709 | 251931 | 92.99 | 2047 | 190609 | 93.12 | |
| 95046 | 93 | - | - | on addition | 623 | 57934 | 92,99 | 763 | 70217 | 92.03 | 1307 | 121204 | 98.75 | 1540 | 152190 | 92.8 | 2227 | 207111 | 93 | |
| 21018 | 93 | 213 | 19809 | 93 | | | - | 832 | 77151 | 92.73 | 861 | 79906 | 92,81 | 1547 | 143869 | 92.99 | | 160146 | 93 | |
| 156240 | 93 | 2160 | 200880 | 93 | 2899 | 269607 | 93 | 3467 | 322431 | 93 | 7898 | 734514 | 93 | 4962 | 461466 | 93 | | 380742 | 93 | |
| 93651 | 93 | 898 | 83304 | 92.77 | 1059 | 98384 | 92.9 | 894 | 83110 | 92.96 | 2889 | 268677 | 93 | 2597 | 241453 | 92,97 | 3307 | 307551 | 93 | |
| 28283 | 92.73 | 37 8 | 35154 | 93 | | | | 879 | 80975 | 92.12 | 1656 | 153332 | 92.59 | 1907 | 176395 | 92.5 | 1 750 | 163494 | 93 | |
| 25389 | 93 | 362 | | 93 | | | - | 257 | 24831 | 93 | 5 86 | 54498 | 93 | 751 | 69813 | 92.96 | | 110205 | 93 | |
| | - | | | | | - | | | | - | 007 | 02140 | 00.0 | 1704 | 1 22501 | 02.50 | 1460 | 135000 | 03 | |
| 24070 | 03 | | | | | | | 600 | 57943 | 02'25 | 993 | 92149 | 92.6 | 1324 | 122581 | 92.58 | 1460 | 135780 | 93 | |
| 24738 | 93 | 1010 | 94674 | 93 | 492 | 46756 | 93 | 628 | | 92,27 | 1 207 | 13.0601 | 07. | 2470 | 006670 | 00 04 | 7000 | 761600 | 07 | |
| 72819 239847 | 93 93 | 1018 4132 | 584276 | 93 | 3494 | | | 1058 4762 | 98326 442866 | 92,94 93 | 1287 5428 | 119691 506356 | 93° 93 _• 29 | 2439 6 548 | 2266 71 60 89 64 | 92.94 93 | | 361677 492993 | 93 93 | |
| 140 EPS | 30 | 1102 | 001010 | | 3.04 | 0.0000 | | 2106 | 112000 | 30 | OBEC | 30003 0 | EAPOE | O D TROP | 000304 | 30 | POOT | 200000 | 30 | |
| 138198 | 93 | 2344 | 217992 | 93 | 1635 | 152055 | 93 | 2627 | 244311 | 93 | 2816 | 261888 | 93 | 1490 | 138570 | 93 | 1418 | 131874 | 93 | |
| 55574 | 91.4 | 313 | 28679 | 91.63 | | 83700 | _ | 1318 | 122137 | 92.67 | 1321 | 122731 | 92.91 | 2004 | 186372 | 93 | 1679 | 156147 | 93 | |
| | - | 288 | 26784 | 93 ° | 2 5 5 | 23715 | 93 | 351 | 88443 | 93 | 1634 | 151962 | 93 | 3108 | 289044 | 93 | 3697 | 343220 | 92.84 | 12 |
| 98331 | 92.85 | 516 | 4778 6 | 92.61 | ***** | | 1000 | 1140 | 105740 | 92.75 | 2765 | 25571 6 | 92.48 | 1742 | 161874 | 92.92 | 2558 | 237894 | 93 | 1 13 |
| 111135 | 93 | 581 | 54 0 3 3 | 93 | 1115 | 103695 | 93 | - | | - | 862 | 80166 | 93 | 35 68 | 331623 | 92.94 | 1821 | 169353 | 93 | |
| | | | | | | | | | | | 817 | 75981 | 93 | 934 | 86147 | 92.23 | 716 | 665 88 | 93 | |
| 21204 | 93 | 228 | 21204 | 93 | | | | 893 | 82802 | 92.72 | -817 | 75905 | 92,91 | 1255 | 116617 | 92.92 | | 124899 | 93 | - 1 |
| 213-135 | 93 | 2642 | 245664 | 92.98 | 2593 | 241149 | 93 | 5309 | 493737 | 93 | 8010 | 558834 | 92.98 | 6372 | 592596 | 93 | _ | 443260 | 93 | 9 |
| 97743 | 93 | 2308 | 214644 | 93 | 1858 | 172702 | 92.95 | 2878 | 267654 | 93 | 2918 | 271374 | 93 | 1778 | 164889 | 93 | | 212598 | 93 | 5 |
| 377673 | 93 | 6775 | 630075 | 93 | 5703 | 530299 | 92.99 | 8372 | 778596 | 93 | 6394 | 594642 | 93 | 3047 | 283371 | 93 | | 786408 | 93 | 0 |
| 68727 | 93 | 2469 | 829617 | 93 | 2103 | 195579 | 93 | | 288486 | 93 | | 181908 | 93 | _ | 253006 | | | 254634 | | 4 |
| | | | - | - | | | | | | | 680 | 62558 | 91.99 | 777 | 71845 | 92.46 | 376 | 34768 | 92.47 | , |
| 88536 | 93 | 1002 | 93186 | 93 | 1187 | 110391 | 93 | 612 | 56916 | 93 | | 214154 | 92.91 | | 34840 8 | 92.91 | | 296722 | | 1 |
| 23000 | | | | | -1 | | | | | | 1 | | 4444 | | 1 | 1 | - | 201100 | | |
| | | - | | - | - | | | | - | | | | | - | | | | | - | - |
| 37014 | 93 | 239 | 22191 | 92,05 | 352 | | 98.66 | 449 | 41757 | 93 | 577 | 53549 | 92.81 | 260 | 24180 | 93 | 379 | 35247 | 93 | |
| gangabarran | | - | | | 1007 | 93651 | 93 | 736 | 68443 | 92.99 | | 146754 | 93 | 1110 | | 92.97 | | 78472 | 92,98 | - |
| | | - | | - | | | | | | | 515 | 47854 | 92.92 | 923 | 85781 | | | | - | |
| 22506 | 93 | 324 | 50132 | 93 | | - | | 196 | 18194 | 92.83 | 224 | 20779 | 92.76 | 1075 | 99975 | | 1686 | 156986 | 93.11 | 2, |
| | | | | 0.00 | | - | - | | | | | | | | | | | _ | - | |

strial purposes.

| | OCTOBER Grading Points | Avorago | | NOVEMBER Grading Points | Averago | | | R ag Aver- ats age | Вож | JANUA B Gradin Point | ig Avorago | Boxo | FEBRUAL os Gradin Point | g Avorago | TOTAL | | AVERLO | AWA POS |
|-----|------------------------------|---------|--------------|-------------------------------|---------|--------|-----------------|--------------------------|---------------|----------------------------|------------|--------------|-------------------------------|----------------------------------|------------------------------|------------------------------------|----------------|------------|
| 00 | 1 76 70 0 | 93. | 2709 | 251931 | 92.99 | 2047 | 190609 | 93.12 | 303 8 | 20289 | 0 93,11 | 3203 | 297879 | 93 | 25882 | 8407612 | 93.02 | 3RD EQUAL. |
| 7 | 121204 | 98.75 | 1640 | 152190 | 92.8 | 2227 | 207111 | 93 | 1071 | 9861 | 1 92,07 | 1743 | 160374 | 00,00 | - | | | |
| 1 | 79906 | 92,81 | 1547 | 143869 | 92.99 | 1722 | 160146 | 93 | 1654 | | | 1237 | 114518 | 92,01 | | - | | |
| 88 | 734514 | 93 | 4962 | 461466 | 93 | 4094 | 380742 | 93 | 7429 | 69245 | | 7576 | 797658 | 92,53 95,41 | 64903 | 6041943 | 93.09 | 1ST. |
| 9 | 268677 | 93 | 2597 | 241.453 | 92.97 | 3307 | 30 7551 | 93 | 2578 | 25908 | 3 92.74 | 3343 | 310275 | 92.84 | 25498 | 2368 352 | 92,90 | 202, |
| 6 | 153 332 | 92.59 | 1907 | 176395 | 92.5 | 1758 | 163494 | 93 | 2513 | 27.106 | 00.00 | | | | | | | |
| 6 | 54498 | 93 | 751 | | 92.96 | | 110205 | 93 | 1771 | 23406 16464 | | 2 296 | 213528 133851 | 93 92 _• 95 | | | | |
| 3 | 92149 | 92.8 | 1324 | 122581 | 92.58 | 1460 | 135780 | 93 | 1578 | 1-2660 | 1 92.9 | 1547 | 1.43261 | 00.69 | Western. | | * | |
| | | - | - | | | | | | | | | | 1.40201 | 92,61 | | | | |
| 7 | 119691 | 93 | 2439 | 226671 | 92.94 | 3889 | 361677 | 93 | 5081 | 286533 | 5 93 | 3508 | 326244 | 07 | | - | | * |
| 8 | 506356 | 93,29 | 6 548 | 608964 | 93 | 5301 | 492993 | 93 | 1547 | 14337 | | 10577 | | 93 93 | 24600 686 18 | 228 0829 65 82917 | 93.04 93.02 | and. |
| | 261888 | 93 | 1490 | 138570 | 93 | | 131874 | 93 | 1298 | 12071 | 93 | 4931 | 458065 | 92,81 | 30706 | 2855051 | 92.93 | |
| 1 3 | 122731 | 92.91 | 2004 | 186372 | 93 | 1679 | 156147 | 93 | 21.66 | 203298 | 93 | 1729 | 160089 | 00'50 | | | , | |
| | L 51 962 | 93 | 3108 | 289044 | 93 | 3697 | 343220 | 92.84 | 2000 | 185626 | | 2250 | 208762 | 92,59 | 15765 | 1462227 | 92.75 | |
| 2 | 255716 | 92.48 | 1742 | 161874 | 92,92 | 2558 | 237894 | 93 | 3222 | 299 55 3 | | 3796 | 352114 | 92 .7 8 92 .7 6 | | | | |
| | 80166 | 93 | 35 68 | 331623 | 92.94 | 1321 1 | L69 3 53 | 93 | 2661 | 247473 | 93 | 2763 | 356891 | 92.97 | | - | | |
| 8 | 75981 | 93 | 934 | 86147 | 92.23 | 716 | 66538 | 93 | 2125 | 197439 | 93 | 1.100 | 370055 | | | | | |
| | 75 905 | | | | 92.92 | 1343 | | 93 | 1216 | 113031 | | 1407 | 130851 | 93 | | | | |
| 5 | 558834 | • | | | 93 | 4820 4 | | 93 | 3630 | 542233 | | 513 | 47709 | 93 | | | | |
| | 71374 | _ | _ | | 93 | | 212598 | 93 | 2217 | 206063 | | 6098 | 566500 | 92,89 | 55964 | 520 3409 | 92.98 | |
| | 94642 | | | | 93 | | 786408 | 93 | 8021 | 745953 | 92.9 | 6340 | 634852 | 92.31 | 34183 | 3177095 | 92.93 | 7 |
| | | | | 253006 | | | 254634 | | 4748 | 441494 | | | 1144551 493838 | 93° 92•98 | 98 08 3 35 505 | 9120647 3301498 | 92.99 92.99 | |
| | 62558 | 91.99 | 777 | 71845 | 92.46 | 376 | 34768 | 92.47 | 1598 | 148564 | 92:97 | 1150 | 106010 | 00.7 | | - | | |
| | | | | 34840 3 9 | | | 96722 | | 42. 8 | 394115 | 92.78 | | 106812 295329 | 92.71 | 51137 | 2893317 | 92.60 | |
| - | | - | - | | - | | | - | | - | | 447 | 41571 | 93 | | | | |
| 1 | 53549 | 92.81 | 260 | 24180 | 93 | 379 | 35247 | 93 | 55 0 | 51147 | 92,99 | (103 | 05455 | | | | | |
| | | | | 103202 | | | | 92.98 | 829 | | 92,62 | | 85653 | 93 | 6631 | 616201 | 92.93 | |
| | | 92.92 | 923 | 85781 9 | | | | | 5-46 | | | | | | - | | | |
| | | | 1075 | 99975 | | 1686 1 | 56986 | 93.11 | 2248 | 5077 8 | | 600 | 55800 | 93 | | | | |
| 1 | | | | | | | | | ************* | 209064 | 90 | 1755 | 163209 | 92,99 | - | | | |

Special Prizes, £40 and Open Orders, value £6 6s., are presented by the Blue Star Line (Aust.) Ltd., Scottish House, 17-19 Bridge Street, Sydney, viz.: First prize, £20; second prize, £12 10s.: third prize, £5; fourth prize, £2 10s.; and an Open Order, value £3 8s. each, to the manager and butter maker of the factory securing first prize.

A Medal or Trophy will be presented to the buttermaker of the factory securing the first prize and a Silver Medal each to the makers of the second, third, and fourth prize exhibits. The factory to nominate the recipient of the medals.

A Bronze Medal will be awarded each factory gaining a box average of 93.5 per cent over the period of competition, provided that for any month the average grading of the factory shall not be under choicest grade of 93 points.

CONDITIONS.

1. The competition is for salted or unsalted butter submitted and examined in N.S.W. for export to Great Britain

Each consignment shall consist of not fewer than 50 boxes.

- 2. The Grading Period will extend from 1st November, 1949, to 28th February, 1950. From the consign ments during the month of February, one box may be taken for exhibition at the Show
- 3. The official grading by the Federal Officers of all the registered choicest brands of factories entered for this competition will be taken each month for the full period and results worked out by taking the actual mean average in which the number of boxes in each consignment, together with the grading points, is taken into account.
- 4. At least three gradings, including at least four churnings, representing at least two vats of cream in each grading, must be recorded each month to enable a competitor to qualify for the prizes,
- 5. The grading points allotted by the Federal Grader will be taken for the full period and a box average established by dividing the total of the points allotted to each consignment by the total number of boxes graded.

The exhibits gaining the highest box average will be awarded the prizes.

- 31. Bega Co-op. Society, Ltd.
 - Casino Co-op. Dairy Society, Ltd. Cobargo District Co-op. Creamery and Butter
 - Co., Ltd.
 - Dorrigo Co.op. Dairy Co., Ltd. Foley Bros. Pty., Ltd. (Lismore), Foley Bros. Pty., Ltd. (Mullumbimby).
 - Macleay River Co-op. Dairying Co., Ltd. Norco Co-op., Ltd. (Byron Bay).
- Norco Co-op., Ltd. (Kyogle).
- Norco Co-op., Ltd. (Lismore).
 - Norco Co-op., Ltd. (Murwillumbah). Norco Co-op., Ltd. (Nimbin).
- Singleton Central Co-op. Dairy Co., Ltd. 14. South Wolumla Co-op. Creamery Co., Ltd.

- CLASS 1—THE "BLUE STAR LINE" CONTINUOUS GRADING CLASS FOR BUTTER (EXPORT)

 CLASS 2—CONTINUOUS GRADING CLASS FOR BUTTER (LOCAL CONSUMPTION)—Special Prizes, £40, viz.: First prize, £20: second prize, £12 10s.; third prize, £5; fourth prize, £2 10s., and a Medal or Trophy to the butter-maker of the factory securing the first prize and a Silver Medal each to the makers of the second, third, and fourth prize exhibits. The factory to nominate the recipient of the medals.
 - A Bronze Medal will be awarded each factory gaining a box average of 93.5 per cent over the period of competition, provided that for any month the average grading of the factory shall not be under choicest grade of 93 points.

CONDITIONS.

- 1. The competition is for salted butter sold on the local market in N.S.W.
- 2. The Grading Period will extend from 1st March, 1949, to 28th February, 1950. From the consignments, during the month of February, one box may be taken for exhibition at the Show.
- 3. Every factory competing must grade officially at least 85 per cent of its production as choicest
- 4. The official grading by the State Officers of all the registered choicest brands of factories entered for this competition will be taken each month for the full period and results worked out by taking the actual mean average in which the number of boxes in each consignment, together with the grading points, is taken into account.
- 5. At least three gradings, including at least four churnings, representing at least two vats of cream in each grading, must be recorded each month to enable a competitor to qualify for the prizes,
- 6. The grading points allotted by the State Graders will be taken for the full period and a box average established by dividing the total of the points allotted to each consignment by the total number of boxes graded, and the exhibits obtaining the highest box average will be awarded the prizes,
- Ed 16. Bega Co-op. Society, Ltd.
 - 16. Bellinger River Co-op. Butter and Bacon. Society, Ltd.
 - 17. Bowraville Co-op. Society, Ltd.
 - 18. Casino Co-op. Dairy Society, Ltd.
 - 19. Clarence River Pioneer Co-op. Dairy Co., Ltd. Cobargo District Co-op. Creamery and Butter 20.
- Comboyne Rural Co-op. Society, Ltd.
 Cow and Gate Pty., Ltd. (Coff's Harbour).
- 23. Cow and Gate Pty., Ltd. (Raleigh).
- 24. Dorrigo Co-op. Dairy Co., Ltd. 25. Foley Bros. Pty., Ltd. (Lismore).
 - Foley Bros. Pty., Ltd. (Lower Southgate). Foley Bros. Pty., Ltd. (Mullumbimby).
 - Gloucester Dairy Co., Ltd.
 - Grafton Co-op. Dairy Co., Ltd.
 - Macleay River Co-op. Dairying Co., Ltd. Manning River Co-op. Dairy Society, Ltd.

"AJAX" TROUBLE-FREE PUMPS for all agricultural and industrial purposes. McPHERSON'S LTD., 51-65 Bathurst Street, Sydney.

Sec. 11-DAIRY PRODUCE (Continued).

- Nambucca Co-op. Society, Ltd. Norco Co-op., Ltd. (Byron Bay).
- Norco Co.op., Ltd. (Kyogle).
- Norco Co-op., Ltd. (Lismore). Norco Co-op., Ltd. (Murwillumbah). Pambula Co-op. Creamery and Dairy Co., Ltd.
- Peters Creameries Pty., Ltd. Singleton Central Co-op. Dairy Co., Ltd. 39.
- South Wolumla Co-op. Creamery Co., Ltd.
- Tumut Co-op. Dairy Co., Ltd.
- Upper Macleay Co-op. Dairying Co., Ltd.
- Wingham Rural Co-op. Society, Ltd.
- CLASS 3—Butter, salted, 1 package, not less than 56lb. Manufactured and packed ready for storage for local consumption. Butter to contain a minimum of 15.5 per cent and a maximum of 16 per cent moisture. The butter will be judged on receipt at cold store, prior to being placed in cold storage, and again at the Show. The factories gaining the greatest aggregate of both judgings will be awarded the prizes. Exhibits to be in cold store by Saturday, 7th January. First prize, £4: second prize, £2 10s.; third prize, £1.
- Bega Co-op. Society, Ltd.
- Bowraville Co-op. Society, Ltd. Candelo Co-op. Dairy Society, Ltd.
- Casino Co-op. Dairy Society, Ltd. Cobargo District Co-op. Creamery and Butter
- Co., Ltd.
- Combovne Rural Co-op. Society, Ltd.
- Dorrigo Co-op. Dairy Co., Ltd. Foley Bros. Pty., Ltd. (Lismore).
- Foley Bros. Pty., Ltd. (Lower Southgate).
- Foley Bros. Pty., Ltd. (Mullumbimby). Grafton Co-op. Dairy Co., Ltd.
- Macleay River Co-op. Dairying Co., Ltd.
- Nambucca Co-op. Society, Ltd.

- Namoucca Co-op., Sodiety, Edd.
 Norco Co-op., Ltd. (Byron Bay).
 Norco Co-op., Ltd. (Kyogle).
 Norco Co-op., Ltd. (Lismore).
 Norco Co-op., Ltd. (Murshillumbah). Noreo Co.op., Ltd. (Nimbin).
- Singleton Central Co-op. Dairy Co., Ltd.

ROYAL SPECIAL EXPORT BUTTER PRIZES.

- CLASS 4 Butter, salted, 2 packages, not less than 56ib. each. Manufactured and packed ready for export. First prize, £6; second prize, £3; third prize, £1.
- (a) One box to be staged and judged at the Show, the other box to be forwarded to London and judged there. Points for both judgings, in Sydney and London, to be added and the prizes awarded to the factories obtaining the highest aggregate points, after points for consistency are taken into account.
- (b) Points for consistency in grading will be reconciled by deducting from the aggregate points obtained any points allotted by the judges under the standard of choicest 93 points, e.g., if a hutter is awarded 92 points, one point is deducted from the aggregate.

- (c) Butter to contain a minimum of 15 per cent of water and not to contain any preservative other than salt.
- (d) Butter must be in plain standard local boxes (branded boxes not permitted). For purposes of identification each box to bear a label stating name of exhibitor and number of class to be competed for. Label will be removed after boxes have been numbered and registered.
- (e) The butter will, after judging, be sold on factories' account and returns sent to individual factories by the Society.
- 63. Bega Co-op. Society, Ltd.
- Candelo Co-op. Dairy Society, Ltd.
- Casino Co-op. Dairy Society, Ltd.
- 86.3 Cobargo District Co-op. Creamery and Butter Co., Ltd.
- Comboyne Rural Co-op. Society, Ltd.
- 58. | Dorrigo Co-op. Dairy Co., Ltd.
- 89. Downs Co-op. Dairy Assoc., Ltd. (Clifton).
- 70. Downs Co-op. Dairy Assoc., Ltd. (Crow's Nest).
- 71. Downs Co-op. Dairy Assoc., Ltd. (Dalby).
- 72. Downs Co-op. Dairy Assoc., Ltd. (Goombunges).
- 73. Downs Co-op. Dairy Assoc., Ltd. (Jandowse).
- Downs Co-op. Dairy Assoc., Ltd. (Toowoomba).
 Foley Bros. Pty., Ltd. (Lismore).

- Foley Bros. Pty., Ltd. (Lower Southgate). Foley Bros. Pty., Ltd. (Mullumbimby). Grafton Co-op. Dairy Co., Ltd.
- Macleay River Co-op. Dairying Co., Ltd. Norco Co-op., Ltd. (Byron Bay). 79.
- Norco Co-op., Ltd. (Kyogle).
- Norco Co-op., Ltd. (Lismore). Norco Co-op., Ltd. (Murwillumbah).
- Norce Co-op., Ltd. (Nimbin).
- Singleton Central Co-op. Dairy Co., Ltd.
- CLASS 5 Butter, Unsalted, 2 packages, not less than 56ib. each. Manufactured and packed ready for export. First prize, £6; second prize, £3; third prize, £1.
- (a) One box to be staged and judged at the Show, the other box to be forwarded to London and judged there. Points for both judgings, in Sydney and London, to be added and the prizes awarded to the factories obtaining the highest aggregate points, after points for consistency are taken into account.
- (b) Points for consistency in grading will be reconciled by deducting from the aggregate points obtained any points allotted by the judges under the standard of choicest 93 points, e.g., if a butter is awarded 92 points, one point is deducted from the aggregate,
- (c) Butter to contain a minimum of 15 per cent of water, and not to contain any preservative
- (d) Butter must be in plain standard local boxes (branded boxes not permitted). For purposes of identification each box to bear a label stating name of exhibitor and number of class to be competed for. Label will be removed after boxes have been numbered and registered.

ENGINEERING ACCESSORIES - Special exhibit of Machine and Hand tools, McPHERSON'S PAVILION - 102 Suttor Ave.

Section 11-DAIRY PRODUCE (Continued).

- (e) The butter will, after judging, be sold on factories' account and returns sent to individual factories by the Society.
- 86. Bega Co-op. Society, Ltd.
- Casino Co-op. Dairy Society, Ltd.
- 88.3 Cobargo District Co-op. Creamery and Butter Co., Ltd.
- Dorrigo Co-op. Dairy Co., Ltd.
- Downs Co-op. Dairy Assoc., Ltd. (Clifton).
- Downs Co-op. Dairy Assoc., Ltd. (Crow's Nest).
- Downs Co-op. Dairy Assoc., Ltd. (Dalby).
- Downs Co-op. Dairy Assoc., Ltd. (Goombungee).
- 94. Downs Co-op. Dairy Assoc., Ltd. (Jandowae). 95. Downs Co-op. Dairy Assoc., Ltd. (Toowoomba).
- Foley Bros. Pty., Ltd. (Lismore).
- Foley Bros. Pty., Ltd. (Lower Southgate). Foley Bros. Pty., Ltd. (Mullumbimby).
- Grafton Co-op. Dairy, Co., Ltd.
- Macleay River Co-op. Dairying Co., Ltd. Norco Co-op., Ltd. (Byron Bay).
- Norco Co-op., Ltd. (Kyogle).
- Norco Co-op., Ltd. (Lismore). Norco Co-op., Ltd. (Murwillumbah).
- Norco Co.op., Ltd. (Nimbin).
- Singleton Central Co-op. Dairy Co., Ltd.

The ORIENT LINE JUBILEE COMMEMORATION CUP" will be presented by the Orient Steam Navigation Co., Ltd., to the Factory securing the highest aggregate points of both judgings for each of the above classes (4 and 5).

The butter for London will be shipped per R.M.S. "Oreades" on Saturday, 28th January, and the esults of the judging in London will be cabled, which will enable the final awards to be announced during the 1950 Royal Easter Show.

CLASS 6 Butter, salted, 1 package, not less than 56ib. Manufactured and packed ready for export. Exhibits to be in cold store by Wednesday, 25th January. First prize, £4; second prize, £2 10s.; third prize, £1.

- 107. Bega Co-op. Society, Ltd.
- Bowraville Co-op. Society, Ltd.
 Candelo Co-op. Dairy Society, Ltd.
- 110. Casino Co-op. Dairy Society, Ltd.
- Clarence River Pioneer Co-op. Dairy Co. Ltd. 112. Cobargo District Co-op. Creamery and Butter
- Co., Ltd.
- 113. Comboyne Kural Co-op. Society, Ltd. 114. Dorrigo Co-op. Dairy Co., Ltd.
- 116. Downs Co-op. Dairy Assoc., Ltd. (Clifton).
- Downs Co-op. Dairy Assoc., Ltd. (Crow's Nest).
- Downs Co-op. Dairy Assoc., Ltd. (Dalby).
- 118. Downs Co-op. Dairy Assoc., Ltd. (Goombungee).
- 119. 3 Downs Co-op. Dairy Assoc., Ltd. (Jandowae).
- 120. Downs Co-op. Dairy Assoc., Ltd. (Toowoomba).
 121. Foley Bros. Pty., Ltd. (Lismore).
- Foley Bros. Pty., Ltd. (Lower Southgate). Foley Bros. Pty., Ltd. (Mullumbimby). Grafton Co-op. Dairy Co., Ltd.
- Macleay River Co-op. Dairying Co., Ltd.
- 126. Nambueca Co-op. Society, Ltd.
 127. Norco Co-op., Ltd. (Byron Bay).
 128. Norco Co-op., Ltd. (Kyogle).

- 129. Norco Co-op., Ltd. (Lismore).
- 130. Norco Co-op., Ltd. (Murwillumbah).
- Norco Co-op., Ltd. (Nimbin).
- Singleton Central Co-op. Dairy Co., Ltd.

CLASS 7—(Special Prize)—£10 10s., presented by THE AUSTRALIAN PRODUCERS' WHOLE-SALE CO-OPERATIVE FEDERATION PTY., LTD., DOMINION CHAMBERS, 59 WIL-LIAM-ST., MELBOURNE. Butter, 1 package, 56lb. saited. Open to all N.S.W. factories; to be selected from ordinary export consignments at port of shipment, Sydney and Newcastle, during March, and placed in cold store. Such butter to be selected by a Federal grader at port of shipment and taken from the consignment submitted for export. Where a factory is not exporting butter during the month of March the box may be picked up from its ordinary consignments. Exhibits in this class will be reboxed by the Society in plain boxes and uniformly finished.

- 133. Bega Co-op. Society, Ltd.
- Bowraville Co-op. Society, Ltd.
- Casino Co-op. Dairy Society, Ltd.
- Cobargo District Co-op. Creamery and Butter Co., Ltd.
- Comboyne Rural Co-op. Society, Ltd.
- Dorrigo Co-op. Dairy Co., Ltd.
 Foley Bros. Pty., Ltd. (Lismore).
 Foley Bros. Pty., Ltd. (Lower Southgate).
 Foley Bros. Pty., Ltd. (Mullumbimby).
 Grafton Co-op. Dairy Co., Ltd.

- 143. Macleay River Co-op. Dairying Co., Ltd.
- Nambucca Co-op. Society, Ltd. Norco Co-op., Ltd. (Byron Bay).
- Norco Co-op., Ltd. (Kyogle).
- Norco Co-op., Ltd. (Lismore).
- Noreo Co-op., Ltd. (Murwillumbah).
- Norco Co-op., Ltd. (Nimbin).
- Singleton Central Co-op. Dairy Co., Ltd.
- South Wolumla Co-op. Creamery Co., Ltd. Only award

BUTTER-MAKERS' COMPETITION.

CLASS 8—(Special Prizes)—First prize, £5; second prize, £3: third prize, £1 10s.; for the maker of the best box of butter, not less than 56lb. A separate exhibit to be provided for this competition. The entry to be in the name of the maker of the butter; the name of the factory to which the competitor is maker to be stated on certificate of entry; the name of the factory shall not be published until after judging. Exhibits to be in cold store by Fi'day, 24th February.

- 152. Baker, R. 153 Barron, V. 154. Blain, E.
- 159. Dougherty, J. 160. Gerahty, M.
- 155. Brett, T.
- 161. Green, A. Hart. J.
- 156. Browning, C. Cheers, O.
- 163. Kedzlie, A. W. McCann, B.
- 158. Cork, L. G.
- 165. McMahon, T. G.

EVERY ENGINEERING REQUIREMENT — For 89 years McPHERSON'S LTD. have been foremost suppliers to engineering profession - 51-65 Bathurst Street, Sydney.

Visit COLES Variety Stores

Sec. 11-DAIRY PRODUCE (Continued).

- 172. Snodgrass, J. 166. O'Connor, W. 173. Stagg, N. 167. O'Reilly, W. J.
- Sugars, M. 174. Perkins, R. Swan, L. D. 175. Piggot, F.
- 176. White, S. C. Robson, G. A.
- 177. Williams, C. V. 171. Rodd, J. F.
- CLASS 9 PRINT BUTTER, one box containing 54 1ib. prints of salted butter. To be printed and packed at the factory and wrapped in special wrappers supplied by the Society. Wrappers will be forwarded to each factory immediately on receipt of entry. The top layer of each box to be laid flat with the printed side of wrappers uppermost. Exhibits to be in cold store not later than Wednesday, 22nd March, nine days prior to the opening date of the Show. First prize, £4; second prize, £2 10s.; third prize, £1.
- 178. Bega Co-op. Society, Lul.
- Bowraville Co-op. Society, Ltd.
- Candelo Co-op. Dairy Society, Ltd.
 Casino Co-op. Dairy Society, Ltd.
- 214 182. Clarence River Pioneer Co-op. Dairy Co., Ltd.
 - 183.3 Cobargo District Co-op. Creamery and Butter Co., Ltd.
 - Comboyne Rural Co-op. Society, Ltd.
 - 185. Dorrigo Co-op. Dairy Co., Ltd.
 186. Foley Bros. Pty., Ltd. (Lismore).

 - 186. Foley Bros. Pty., Ltd. (Lismore).
 187. Foley Bros. Pty., Ltd. (Lower Southgate).
 188. Foley Bros. Pty., Ltd. (Mullumbimby).
 189. Grafton Co-op. Dairy Co., Ltd.
 190. Macleay River Co-op. Dairying Co., Ltd.
 191. Nambucca Co-op. Society, Ltd.
 192. Norce Co-op., Ltd. (Byron Bay).

 - Norco Co-op., Ltd. (Kyogle).
 - Norco Co-op., Ltd. (Kyogle). Norco Co-op., Ltd. (Lismore). Norco Co-op., Ltd. (Murwillumbah). Norco Co-op., Ltd. (Nimbin).
 - Singleton Central Co-op. Dairy Co., Ltd.
 - CLASS 10 Butter, 1 package, not less than 56 lb. Manufactured for local consumption. First prize, £4; second prize, £2 10s.; third prize,
 - Bega Co-op. Society, Ltd. Bowraville Co-op. Society, Ltd.
 - Candelo Co-op. Dairy Society, Ltd. Casino Co-op. Dairy Society, Ltd. 201. Clarence River Pioneer Co-op. Dairy Co., Ltd.
 - Cobargo District Co-op. Creamery and Butter Co., Ltd.
 - 204. 3 Comboyne Rural Co-op., Society, Ltd.
 - 205. Dorrigo Co-op. Dairy Co., Ltd. 205. Downs Co-op. Dairy Assoc., Ltd. (Clifton).
 - Downs Co-op. Dairy Assoc., Ltd. (Crow's Nest). Downs Co-op. Dairy Assoc., Ltd. (Dalby).
 - Downs Co-op. Dairy Assoc., Ltd. (Goon bungee). Downs Co-op. Dairy Assoc., Ltd. (Jandowae).
 - 211. Downs Co-op. Dairy Assoc., Ltd. (Toowoombs).
 212. Foley Bros. Pty., Ltd. (Lismore).
 213. Foley Bros. Pty., Ltd. (Lower Southgate).
 - 214. Foley Bros. Pty., Ltd. (Mullumbimby).
 - 215. Grafton Co-op. Dairy Co., Ltd.
 216. Macleay River Co-op. Dairying Co., Ltd.

- Nambucca Co-op. Society, Ltd.
- Norco Co-op., Ltd. (Byron Bay). Norco Co-op., Ltd. (Kyogle).
- Norco Co-op., Ltd. (Lismore).
- Norco Co-op., Ltd. (Murwillumbah). Norco Co-op., Ltd. (Nimbin).
- 223. Singleton Central Co-op. Dairy Co., Ltd.

Special Prize £5 5s., presented by the PRODUCERS' CO-OPERATIVE DISTRIBUTING SOCIETY, LTD., VALENTINE AND QUAY-STS., SYD-NEY, for the factory securing the greatest aggregate number of points in all classes, and special prizes for butter, provided that the mean average of the Continuous Grading Class be included instead of the aggregate. A separate entry will not be required for this

HORCO CU-OF LIQ (MUTUHambak

CHEESE.

Stewards: Judge: G. P. Fisher J. T. Dickson, A. B. Shelton Department of Agriculture, F. W. Wilkinson N.S.W., Sydney.

One or more entries may be made by exhibitors but only one prize to be awarded to individual exhibitors in any one class.

Exhibits in cheese classes must conform to the following :-

- (a) Each cheese shall be rimless.
- (b) Each Cheddar cheese other than Loaf, shall weigh approximately 80lb. or 40lb.
- (c) The height of an 80lb, and 40lb, cheese shall be approximately 121 and 61 inches respectively.
- (d) Cheese shall have a diameter of approximately 7 inches for 10lb. loaf; 77 inches for 14lb. loaf; 131 inches or 141 inches for 10lb. cheese.

SCALE OF POINTS FOR JUDGING.

FLAVOUR: Mild and rich TEXTURE AND COLOUR: Firm, close texture and clear, bright colour FINISH: Should be neat, attractive and of clean commercial appearance *** ***

The brands on all exhibits will be covered with paper or cloth. All exhibits must be in position not later than 5 p.m. on Thursday, 30th March. Exhibits will be delivered from 9 a.m. on Thursday, 13th April.

Each factory must supply agent with delivery order to obtain cheese.

FOR ALL GOOD TOOLS - For 89 years McPHERSON'S LTD. have supplied the best tools for farmers, engineers, builders-51-65 Bathurst Street, Sydney.

CIRCULAR

ROYAL ACRICULTURAL SOCIETY OF NEW SOUTH WALES.

ROYAL EASTER SHOW, 1950.

Class 10 - Continuous Grading Class for Cheeso.

| COMPRIT TORS. | unts | GRADI POIN | ng TIS AVER ACE | | GRAI TS POI | DING INTS AVEN AGE | | GRADI ES POIN | | | CRAD | | R-UN E | | CATE DING AVER- DINTS ACE | - AWARDS |
|--|------|---------------|-----------------------|----|----------------|--------------------------|----|------------------|--------------------|------------|--------------|-------|------------|------|---------------------------------|----------|
| *************************************** | | HOYE | BER | | DECE | Z/BER | | JANU | ARY | | FEBR | UkRY | 7 = 1 1 | | | |
| 1. Buckajo Cheese Factory | * | 44 | 77 | 5 | 452 | 90•4 | - | | - | - | | | - | - | - | |
| 2. Macleay River Co-op. Dairying Co., Ltd. | 4 | 365 | 91.85 | 4 | 366 | 91.5 | 5 | 450 | 90 | 6 | | - | _ | | - | |
| 3. Norco Co-op. Ltd. (Dunoon) | 23 | 2077 | 90.3 | 20 | 1019 | 90 _• 95 | 13 | 1177 | 90 _• 53 | 2 3 | 2 092 | 90.95 | 7 9 | 7165 | 90.70 | lst. |
| 4. Singleton Control Co-op.Dairy Co. Ltd. | 12 | 1071 | 09.25 | 7 | 6 37 | 91 | 7 | 631 | 90.14 | 6 | 540 | 90 | 32 | 2879 | 89.97 | 210. |
| 5. Tilba Tilba Co-op. Choose Society Ltd. | 6 | 53 8 | 89,66 | 5 | 440 | 89 . B | 6 | 53 0 | 88.33 | 7 | 629 | 89.85 | 24 | 2146 | 89.42 | 3HD. |

Sec. 11-DAIRY PRODUCE (Continued).

CLASS 11 Continuous Grading Class for Cheese-(Special Prizes) £13 10s., viz.: First prize, £7 10s.; second prize, £4; third prize, £2. A Medal or Trophy will be presented to the maker of the first prize cheese and a Silver Medal each to the makers of the second and third prize cheeses.

CONDITIONS.

- 1. The Grading Period will extend from 1st November, 1949, to 28th February, 1950, and for the month of February one cheese may be taken for exhibition
- 2. The official grading by the State Officers (and in any districts where the consignment of cheese is sold) of all factories entered for this competition will be taken each month for the full period and results taken by working out the actual average over such period.
- 3. At least four gradings, representing different consignments, each consisting of at least 10 cheeses, must be recorded each month to enable a competitor to qualify for the prizes, provided that any competitor not having any choose graded as prescribed will not be eligible for a prize.
- 4. The exhibits gaining the highest actual average will be awarded the prizes.
- 224. Buckajo Cheese Factory.
- 225. Macleay River Co-op. Dairying Co., Ltd.
- 226. Norco Co-op., Ltd. (Dunoon).
- 2 227. Singleton Central Co-op. Dairy Co., Ltd.
- 228. Tilba Tilba Co-op. Cheese Society, Ltd.
- CLASS 12-Two Cheeses, matured, LOAF. First prise, \$8 10s.; second prise, £2 10s.; third prize, £1 10s.
- 229. Buckajo Cheese Factory.
- 230. Macleay River Co-op. Dairying Co., Ltd.
- 231. Norco Co-op., Ltd. (Duncon).
- 232. Singleton Central Co-op. Dairy Co., Ltd.
- CLASS 13 Two Cheeses, matured, LARGE, 40lb. or over. First prize, £3 10s. second prize, £2 10s.; third prize, £1 10s.
- 233. Buckajo Cheese Factory.
- 234. Macleay River Co-op. Dairying Co., Ltd. 235. Norco Co-op., Ltd. (Dunoon).
- 236. Singleton Central Co-op. Dairy Co., Ltd.
- CLASS 14—Two Cheeses, LARGE, 40lb. or over, not more than 6 weeks old. First prize, £3 10s. : second prize, £2 10s.; third prize, £1 10s.
- 237, I Buckajo Cheese Factory.
- 238. Macleay River Co-op. Dairying Co., Ltd. 239. Norco Co-op., Ltd. (Duncon).
- 240, Singleton Central Co-op. Dairy Co., Ltd.

- CLASS 15 Two Cheeses, LOAF, not more than 6 weeks ola. First prize, £3 10s.; second prize, £2 10s.; third prize, £1 10s.
- 241. Buckajo Cheese Factory.
- 242. Maeleay River Co-op. Dairying Co., Ltd. 243. Norco Co-op., Ltd. (Dunoon).
- 244, 2 Singleton Central Co op. Dairy Co, Ltd.
- CLASS 16 Two Cheeses, any one variety, other than Creddar. First prize, £2 10s.; second prize, £1 10s.; third prize, £1.
- 245. Macleay River Co-op. Dairying Co., Ltd. 246. Singleton Central Co-op. Dairy Co., Ltd.

MEDAL OR TROPHY FOR CHEESE MAKER.

Special Prize Medal or Trophy, value £5 5s., for the maker of the cheese exhibited by the most successful exhibitor.

The most successful exhibitor to be determined as follows, viz.: Only exhibitors with three or more exhibits shall be considered for this prize. The total number of points awarded to each exhibit by the Judge shall be divided by the total number of entries made by the exhibitor and to the result obtained shall be added the following points, viz.: Three for each first prize, two for second, and one for third; the exhibitor gaining the highest result shall be the winner. In the case of a maker who exhibits in the names of two or more factories, each factory will be regarded as a separate and distinct exhibi or,

HAMS, BACON, AND LARD.

G. M. D. Carne.

Department of Agriculture, N.S.W., Sydney.

460 7 M. D. LITWIENEG.

Stewards : G. P. Fisher

L. M. F. Russell

A. B. Shelton G. H. Simpson F. W. Wilkinson

One or more entries may be made by exhibitors in each class but only one prize to be awarded to individual exhibitors in any one class.

ALL EXHIBITS TO BE UNBRANDED (GOVERN-MENT BRANDS EXCEPTED: AND IN UNBRANDED WRAPPERS, and must be in position not later than 5 p.m. on Thursday, 30th March. Exhibits will not be received after this date. Exhibits will be cut not more than 24 hours before judging.

Exhibits will be delivered from 9 a.m. on Thursday, 13th April. Each factory must supply agents with delivery order to obtain exhibits.

No exhibit to be scraped or trimmed in any way whilst in the possession of the Society, except with the written approval of the Secretary; any violation of this rule will disqualify the exhibit.

All exhibits in the Hams and Bacon Classes must have been cured by and on the premises of the factory making the entry.

REGA ROTARY DUSTER—with ball-bearing fan shaft, as supplied by McPHERSON'S LTD.—PAVILION at 102 Suttor Ave.

Visit COLES Variety Stores

Sec. 11-DAIRY PRODUCE (Continued).

Points.

SCALE OF POINTS FOR JUDGING.

HAMS AND BACON.

| and mild so | FLAVOUR: Should be sweet |
|---|--|
| and ever through 20 | COLOUR: Should be natural a |
| an predominating 20 | PROPORTION OF FAT AND be nicely mixed, with lea |
| | TEXTURE AND FIRMNESS in grain and firm for cut |
| lengthy and straight be plump and fine | CONFORMATION: Shoulders bone. Middles should be le in lines. Hams should be in bone |
| bright and neatly to dark the second 10 | FINISH: Should be smooth, cut, with smoking not too |
| 100 | Total |
| . Points. | LARD. |
| 40 | VI AVOUR |

CLASS 17 - Hams, two, factory cured and smoked. 274. Clarence River Pioneer Co-op. Dairy Co., Ltd. First prize, £3; second prize, £2; third prize, £1.

COLOUR 25

FINISH AND APPEARANCE ...

...

- 24. Clarence River Pioneer Co-op. Dairy Co., Ltd.

 24. Clarence River Pioneer Co-op. Dairy Co., Ltd.

 24. Dorrigo Co-op. Dairy Co. Ltd.

 27. Granton Co-op. Dairy Co., Ltd.

 278. Norco Co-op., Ltd. (Byron Bay).
- 249. Dorrigo Co-op. Dairy Co., Ltd. 250. Grafton Co-op Dairy Co., Ltd.

TEXTURE ...

- 251. Merimbula Co-op. Bacon Society, Ltd. 252. Mid-coast Co-op. Meat Society, Ltd. 253. Norco Co-op., Ltd. (Byron Bay).
- CLASS 18 Bacon, two sides, factory cured and smoked. First prize, £2 10s.; second prize, £1 10s. ; third prize, £1.
- 254. Bellinger River Co-op. Butter and Bacon Society, Ltd.
- Clarence River Pioneer Co-op. Dairy Co., Ltd.
- 256. Dorrigo Co-op. Dairy Co., Ltd. 257.2 Grafton Co-op. Dairy Co., Ltd.
- 258. Merimbula Co-op., Bacon Society, Ltd. 259. Mid-Coast Co-op. Meat Society, Ltd. 260. Norco Co-op., Ltd. (Byron Bay).

- CLASS 19 Bacon, two flitches, factory cured and smoked. First prize, £2 10s.; second prize, £1 10s.; third prize, £1.
- 261. Bellinger River Co-op. Butter and Bacon Society, Ltd.
- 262. Clarence River Pioneer Co-op. Dairy Co., Ltd.
- 263. Dorrigo Co-op. Dairy Co., Ltd.
- 264. CGrafton Co-op. Dairy Co., Ltd.
- 265. Merimbula Co-op. Bacon Society, Ltd.
 266. Mid-Coast Co-op. Meat Society, Ltd.
 267. Norco Co-op., Ltd. (Byron Bay).
- CLASS 20 Lard, 56lb. box. First prize, £2; second prize, £1 10s.; third prize, £1.
- 268. Bellinger River Co-op. Butter and Bacon
- Society, Ltd.
 259. Clarence River P.oneer Co-op. Dairy Co., Ltd.
- 270. Dorrigo Co-op. Dairy Co., Ltd.
- 271. Grafton Co-op. Dairy Co., Ltd. 272. Norco Co-op., Ltd. (Byron Bay).
- CLASS 21 Collection, viz.: Two each, Hams, Sides of Bacon, Flitche: of Bacon, and Middles of Bacon. To be judged on a maximum number of 400 points. First prize, £5; second prize, £3; third prize, £1 10s. Special entries to be made for this class, and no exhibit in other classes will be allowed to
- 273. Bellinger River Co-op. Butter and Bacon Society, Ltd.
- 275. Dorrigo Co-op. Dairy Co., Ltd. 276. Grafton Co-op. Dairy Co., Ltd.

MEDAL OR TROPHY FOR BACON CURER.

Special Prize-- Medal or Trophy, value £5 5s., for the cur r of the bacon exhibited by the most successful exhibites in Classes 17, 18, and 19.

The most successful exhibitor to be determined as follows, viz.: Only exhibitors with three or more exhibits shall be considered for this prize. The total number of points awarded to each exhibit by the Judge shall be divided by the total number of entries made by the exhibitor, and to the result obtained shall be added the following points, viz.: Three for each first prize, two for each second, and one for each third; the exhibitor gaining the highest result shall be the winner. In the case of a curer who exhibits in the name of two or more factories, each factory will be regarded as a separate and distinct A crumbula bo of Bacon Sack.

McPHERSON'S LTD .- Since 1860 the firm most relied on by the man on the land-51-65 Bathurst Street, Sydney.

HIBITORS-Sec. 11-Dairy Produce (Continued).

INDEX TO EXHIBITORS.

Section 11—DAIRY PRODUCE.

BAKER, R., c/o. Downs Co-op. Dairy Assoc., Ltd., Jandowae, Q'ld., 152. Barron, V., e o. Downs Co-op. Dairy Assoc., Ltd.,

Brook-st., Toowoomba, O'ld., 153. Bega Co-op. Society, Ltd., P.O. Box 2A, Bega, N.S.W.,

1. 15, 44, 63, 86, 107, 133, 178, 198. - . Bellinger River Co-op. Butter and Bacon Society, Ltd., Bellingen, N.S.W., 16, 247, 254, 261, 268, 273. Blain, E., c/o. Downs Co-op. Dairy Assoc., Ltd.,

Dalby, Q'ld., 154. Bowraville Co-op. Society, Ltd., Bowraville, N.S.W.,

17, 45, 108, 134, 179, 199, Brett, T., c/o, Macleay River Co-op. Dairying Co.,

Ltd., Kempsey, N.S.W., 155. Browning, C., c/o. Foley Bros. Pty., Ltd., P.O. Box 93, Lismore, N.S.W., 156.

Buckaja Cheese Factory, Buckajo, N.S.W., 224, 229, 233, 237, 241.

CANDELO CO-OP. DAIRY SOCIETY, LTD., P.O. Box 5, Candelo, N.S.W., 46, 64 109, 180, 200,

Casino Co-op. Lairy Society Ltd., P.O. Box 22, Casino N.S.W., 2, 18, 47, 65 87, 110, 135, 181 201.

Cheers, O., c/o Dorrigo Co-op. Dairy Co., Ltd., P.O. Box 13, Dorrigo, N.S.W., 157.

Clarence River Pioneer Co-op. Dairy Co., Ltd., Ulmarra, N.S.W., 19, 111, 182, 202, 248, 255, 262, 269,

Cobargo District Co-op. Creamery and Butter Co., Ltd., P.O. Box 1, Cobargo, N.S.W., 3, 20, 48, 66, 88, 112, 136, 183, 203,

Comboyne Rural Co-op. Society, Ltd., Comboyne, N.S.W., 21, 49, 67, 113, 137, 184, 204.

Cork, L. G., c/o. Casino Co-op. Dairy Society, Ltd., P.O. Box 22, Casino, N.S.W., 158. and Gate Pty., Ltd., (Coff's Harbour), Coff's

Harbour Jetty, N.S.W., 22. Cow and Gate Pty., Ltd. (Raleigh), Raleigh, N.S.W., 23.

DORRIGO CO.OP. DAIRY CO., LTD., P.O. Box 13, Dorrigo, N.S.W., 4, 24, 50, 68, 89, 114, 138, 185, 205, 249, 256, 263, 270, 275.

Dougherty, J., c/o. Foley Bros. Pty., Ltd., Lower Southgate, N.S.W., 159.

Downs Co-op. Dairy Assoc., Ltd., Elifton, Q'ld., 69, 90, 115, 206.

Downs Co-op. Dairy Assoc., Ltd., Crow's Nest, Q'ld., Norco Co-op., Ltd., Dunoon, N.S.W., 226, 231, 235, 70, 91, 116, 207.

Downs Co-op. Dairy Assoc, Lat. Bashv. O'M., 71, 92, 117, 208.

Downs Co-op. Dairy Assoc., Ltd., Goombungee Q'ld., 72, 93, 118, 209.

Downs Co-op. Dairy Assoc., Ltd. Jandowae, Q'ld., 73, 94, 119, 210.

Downs Co.op. Dairy Assoc., Ltd., Brook-st., Too-woomba, Q'ld., 74, 95, 120, 211.

FOLEY BROS. PTY., LTD., P.O. Box 93, Lismore, N.S.W., 5, 25, 51, 75, 96, 121, 139, 186,

Foley Bros. Pty., Ltd., Lower Southgate, N.S.W., 26, 52, 76, 97, 122, 140, 187, 213.

Foley Bros. Pty., Ltd., P.O. Box 53, Mullumbimby, N.S.W., 6, 27, 53, 77, 98, 123, 141, 188, 214.

GERAGHTY, M., e/o. Downs Co-op. Dairy Assoc., Ltd., Goomburgee, Q'ld., 160.

Gloucester Dairy Co., Ltd., Gloucester, N.S.W., 28. Grafton Co-op. Dairy Co., Ltd., P.O. Box 1, Grafton, N.S.W., 29, 54, 78, 99, 124, 142, 189, 215, 250, 257, 264, 271.

A., c/o. Norco Co-op., Ltd., P.O. Box 73, Byron Bay, N.S.W., 161.

HART, J., c/o. Clarence River Pioneer Co-op. Dairy Co., Ltd., Ulmarra, N.S.W., 162.

KEDZLIE, A. W., c o. Norco Co-op., Ltd., Lismore N.S.W., 163,

McCANN, B., c/o. Foley Bros. Pty., Ltd., P.O. Box 53, Mullumbimby, N.S.W., 164. McMahon, T. G., c/o. Norco Co-op. Ltd., Mur-

willumbah, N.S.W., 165. Macleay River Co-op. Dairying Co., Ltd., P.O. Box 13,

Kempsey, N.S.W., 7, 30, 55, 79, 100, 125, 143, 190, 216, 225,

Manning River Co-op. Dairy Society, Ltd., Taree, N.S.W., 31.

Merimbula Co op. Bacon Society, Ltd., Merimbula, N.S.W., 251, 258, 265, 277.

Mid-Coast Co-op. Meat Society, Ltd., P.O. Box 40, Macksville, N.S.W., 252, 259, 265.

NAMBUCCA CO-OP. SOCIETY, LTD., P.O. Box 15. Macksville, N.S.W., 32, 56, 126, 144, 181,

Norco Co-op., Ltd., P.O. Box 73, Byron Bay, N.S.W., 8, 33, 57, 80, 101, 127, 145, 192, 218, 253, 260, 267, 272, 278,

239, 243.

Norco Co-op., Ltd., Kyogle, N.S.W., 9, 34, 58, 81, 102, 128, 146, 193, 219,

Norco Co-op., Ltd., Lismore, N.S.W., 10, 35, 59, 82, 103, 129, 147, 194, 220.

Norco Co-op., Ltd., Murwillumbah, N.S.W., 11, 36, 60, 83, 104, 130, 148, 195, 221.

Norco Co-op., Ltd., Nimbin, N.S.W., 12, 61, 84, 165, 131, 149, 196, 222,

O'Reilly, W. J., c/o. Candelo Co-op. Dairy Society, Ltd., P.O. Box 5, Candelo, N.S.W., 167.

PAMBULA CO. OP. CREAMERY AND DAIRY CO., LTD., P.O. Box 40, Pambula, N.S.W.,

Perkins, R., c/o. Norco Co-op., Ltd., Kyogle, N.S.W.,

Peters' Creameries Pty., Ltd., P.O. Box 103, Taree, N.S.W., 38.

Piggott, F., c/o. Bowraville Co-op. Society, Ltd., Bowraville, N.S.W., 169.

ROBSON, G. A., c/o Cobargo District Co-op. Creamery and Butter Co., Ltd., Cobargo. N.S.W., 170.

Rodd, J. F., c/o. Bega Co-op. Society, Ltd., P.O. Box 2A, Begs. N.S.W., 171

O'CONNOR, W., c/o. Grafton Co-op. Dairy Co., Ltd., P.O. Box 1, Grafton, N.S.W., 166.

SINGLETON CENTRAL CO-OP. DAIRY CO., LTD., P.O. Box 8, Singleton, N.S.W., 13, 39, 62, 85, 106, 132, 150, 197, 223 227.

Snodgrass, J., c/o. Nambucca Co-or Society Ltd., P.O. Box 15. Macksville, N.S.W., 172.

South Wolumla Co.op. Creamery Co., Ltd., South Wolumla, N.S.W., 14, 40, 151.

Stage, N., c/o. Downs Co-op. Dairy Assoc., Ltd., Clifton, Q'ld., 173

Sugars, M. c o. Downs Co-op. Dairy Assoc., Ltd., Crow's Nest, Q'ld., 174.

Swan, L. D., c'o. Singleton Central Co-op. Dairy Co., Ltd., P.O. Box 8, Singlet on, N.S.W., 175.

TILBA TILBA CO-OP, CHEESE SOCIETY, LTD., Tilba Tilba, N.S.W., 228.

Tumut Co-op. Dairy Co., Ltd., Tumut, N.S.W., 41,

UPPER MACLEAY CO-OP. DAIRYING CO., LTD.. Toorooka, N.S.W., 42.

WHITE, S. C., c/o. Comboyne Rural Co p. Society Ltd., Comboyno, N.S.W., 176.

Williams, C. V., e/o. Norco Co-op., Ltd., Nimbin, N.S.W.,

Wingham Rural Co-op. Society, Ltd., Wingham, N.S.W., 43.

